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Q1).Consider the following statements :
1. The President shall make rules for the more convenient

transaction of the business of the Government of India,
and for the allocation among Ministers of the said
business.

2. All executive actions of the Government of India shall be
expressed to be taken in the name of the Prime Minister.

Which of the statements given above is/are correct ?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2
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• Article 77(c) - Second statement is wrong as all decision are taken in
the name of President.

• Executive powers –

o The President shall make rules for the more convenient
transaction of the business of the Government of India.

o He appoints the prime minister and the other minister

o appoints the attorney general of India and determines his
remuneration

o appoints the comptroller and auditor general of India

o the chief election commissioner and other election commissioners,
the chairman and members of the Union Public Service
Commission, the governors of states, the chairman and members of
finance commission, and so on.

• Functions performed by the President can be studied under the
following heads - Executive powers, Legislative powers, Financial
powers, Judicial powers, Diplomatic powers, Military powers
and Emergency powers.



Q2).The sales tax you pay while purchasing a toothpaste is
a
a) Tax imposed by the Central Government
b) Tax imposed by the central Government but collected by

the State Government.
c) Tax imposed by the State Government but collected by

the Central Government.
d) Tax imposed and collected by the State Government
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• The power to impose taxes on 'sale or purchase of goods other than
newspaper' belongs to State (Entry list 54, State II).

• Financial relations –
o Articles 268 to 293 in Part XII of the Constitution deal with Centre-

state financial relations.
o Parliament levies taxes on subjects enumerated in the Union List

and state legislature on subjects enumerated in the State List.

o The 101st Amendment Act of 2016 has conferred concurrent
power upon Parliament and State Legislatures to make laws
governing goods and services tax(GST).

o Residuary power of taxation is vested in the Parliament. Eg.
Space tax

• Constitution also draws a distinction between the power to levy and
collect a tax and the power to appropriate the proceeds of the tax so
levied and collected. For example, the income-tax is levied and
collected by the Centre but its proceeds are distributed between the
Centre and the states through the finance commission
recommendations. (Presently 41% to states)



Q3).Consider the following statements regarding a No-
Confidence Motion in India :
1. There is no mention of a No Confidence Motion in the

Constitution of India.
2. A motion of No-Confidence can be introduced in the Lok

Sabha only.
Which of the statements given above is/are correct ?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2
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About No Confidence Motion
• There is no mention of NCM in the constitution. Rule 198

of LS mentions the procedure for a motion of NCM.
• Article 75 of the Constitution says that the council of

ministers shall be collectively responsible to the Lok
Sabha.

• It means that the ministry stays in office so long as it enjoys
confidence of the majority of the members of the Lok Sabha.

• In other words, only Lok Sabha can remove the ministry
from office by passing a no- confidence motion.

• The motion needs the support of 50 members to be
admitted.



Q4).The power of the Supreme Court of India to decide
disputes between the Centre and the States falls under its
a) advisory jurisdiction
b) appellate jurisdiction
c) original jurisdiction
d) writ jurisdiction
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About Original Jurisdiction
• As a federal court, the Supreme Court decides the disputes between

different units of the Indian Federation such as –

• Between the Centre and one or more states; or
Between the Centre and any state or states on one side and one or more
other states on the other side; or Between two or more states.

• In the above federal disputes, the Supreme Court has exclusive
original jurisdiction. Exclusive means, no other court can decide such
disputes and original means, the power to hear such disputes in the
first instance, not by way of appeal.

• However, dispute brought to court under original jurisdiction should
not be a question of political nature.

• Also, any suit brought by a private citizen against the Centre or a state
cannot be entertained under this.



Q5).The power to increase the number of judges in the
Supreme Court of India is vested in
a) The President of India
b) the Parliament
c) The Chief Justice of India
d) The Law Commission
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• As per Article 124(1) of the Constitution of India,
Parliament by law prescribes the strength of the SC.

• At present, the Supreme Court consists of thirty-four
judges (one chief justice and thirty three other judges).

• In the case of High Courts, the President determines the
strength of a high court from time to time depending upon
its workload.



Q6).Which one of the following is the largest Committee of
the Parliament?
a) The committee on Public Accounts
b) The committee on Estimates
c) The Committee on Public Undertakings
d) The committee on Petitions
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Public Accounts Committee
• First set up in 1921 under the provisions of the Government of India Act

of 1919 and has since been in existence.
•  At present, it consists of 22 members (15 from the Lok Sabha and 7

from the Rajya Sabha).
• The members are elected by the Parliament every year from amongst

its members according to the principle of proportional representation
by means of the single transferable vote.

• A minister cannot be elected as a member of the committee.
• Speaker appoints the chairman who as a convention belongs to the

the Opposition party.
Committee on Petitions
• This committee examines petitions on bills and on matters of general

public importance.
• The Lok Sabha committee consists of 15 members, while the Rajya

Sabha committee consists of 10 members.



Estimates Committee
• Origin of this committee can be traced to the standing financial

committee set up in 1921. The first Estimates Committee in the post-
independence era was constituted in 1950 on recommendation of John
Mathai.

• Originally, it had 25 members but in 1956 its membership was raised to
30.

•  All the thirty members are from Lok Sabha only.
• These members are elected by the Lok Sabha every year from

amongst its own members, according to the principles of proportional
representation by means of a single transferable vote.

• The term of office is one year.
•  A minister cannot be elected as a member of the committee. The

chairman of the committee is appointed by the Speaker from amongst
its members and he is invariably from the ruling party.

•  Function of the committee is to examine the estimates included in the
budget and suggest ‘economies’ in public expenditure.



Committee on Public Undertakings
• This committee was created in 1964 on the recommendation of the

Krishna Menon Committee.
•  At present, it consists of 22 members (15 from the Lok Sabha and 7

from the Rajya Sabha).
• The members of this committee are elected by the Parliament every

year from amongst its own members according to the principle of
proportional representation by means of a single transferable vote.

• The term of office of the members is one year. A minister cannot be
elected as a member of the committee.

• The chairman of the committee is appointed by the Speaker from
amongst its members who are drawn from the Lok Sabha only.

• Function of the committee is to examine the reports and accounts of
public undertakings



Q7).Which one of the following Schedules of the
Constitution of India contains provisions regarding anti-
defection?
a) Second Schedule
b) Fifth Schedule
c) Eighth Schedule
d) Tenth Schedule
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• Provisions relating to disqualification of the members of
Parliament and State Legislatures on the ground of
defection. This schedule was added by the 52nd

Amendment Act of 1985, also known as Anti-defection Law.

• In Kihota Hollohan Vs. Zachilhu (1992) case, the Supreme
Court ruled that the decision of the Speaker in this regard
is subject to judicial review.



Q8).In the Constitution of India, promotion of international
peace and security is included in the
a) Preamble to the constitution
b) Directive Principles of State Policy
c) Fundamental Duties
d) Ninth Schedule
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• ARTICLE 51 – DPSP
About Directive Principles of State Policy –
• They are enumerated in Part IV of the Constitution from Articles 36 to

51. Framers of the Constitution borrowed this idea from the Irish
Constitution of 1937, which had copied it from the Spanish
Constitution.

• Features -
o The directive principles are meant for promoting the ideal of

social and economic democracy.
o However, unlike the Fundamental Rights, the directives are non-

justiciable in nature, that is, they are not enforceable by the courts
for their violation

o Can be classified into three broad categories, viz, socialistic,
Gandhian and liberal-intellectual.



Q9).Which of the following are associated with ‘Planning’
in India?
1. The Finance Commission
2. The National Development Council
3. The Union Ministry of Rural Development
4. The Union Ministry of Urban Development
5. The Parliament
Select the correct answer using the code given below
a) 1, 2 and 5 only
b) 1, 3 and 4 only
c) 2 and 5 only
d) 1, 2, 3, 4 and 5
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• The Parliament and NDC are two bodies which are directly
related to the formulation of plan in India



Q10).Which of the following is/are the function/functions
of the Cabinet Secretariat?
1. Preparation of agenda for Cabinet Meetings
2. Secretariat assistance to Cabinet Committees
3. Allocation of financial resources to the Ministries
Select the correct answer using the code given below:
a) 1 only
b) 2 and 3 only
c) 1 and 2 only
d) 1, 2 and 3
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• statement 3 is incorrect - allocation of financial resources is done by the
finance ministry in consonance with the priorities presented in the
budget.

About Cabinet Secretariat –

• Responsible for administration of Government of India (Transaction of
Business) Rules, 1961 and Government of India (Allocation of
Business) Rules 1961, facilitating smooth transaction of business in
Ministries/ Departments of the Government.

• Provides Secretarial assistance and assists in decision-making in
Government by ensuring Inter-Ministerial coordination.



Q11).Consider the following statements : A Constitutional
Government is one which
1. Places effective restrictions on individual liberty in the

interest of State Authority.
2. Places effective restrictions on the Authority of the State

in the interest of individual liberty.
Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2
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• A constitutional government is the one that is defined by the constitution of
the country.

• It is the source of all government powers, and also provides important
limitations on the government that protect the fundamental rights of citizens. 

• Its major impact is the limit that it puts on the sovereign governments on how
to rule and govern, therefore a constitutional government is limited
government.

• Constitution places restriction on the authority of state so that it does not
become autocratic.



Q12).Which of the following are the discretionary powers
given to the Governor of a State?
1. Sending a report to the President of India for imposing the

President’s rule
2. Appointing the Ministers
3. Reserving certain bills passed by the State Legislature for

consideration of the President of India
4. Making the rules to conduct the business of the State

Government
Select the correct answer using the code given below:
a) 1 and 2 only
b) 1 and 3 only
c) 2, 3 and 4 only
d) 1, 2, 3 and 4
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• Article 166(3) - The Governor shall make rules for the more
convenient transaction of the business of the Government
of the State.

• Statement 4 does not come under the discretionary powers
of the Governor .

• Ministers are appointed by the Governor on the advice of
the CM and hence not a discretionary power.



Q13).Consider the following statements regarding the
Directive Principles of State Policy :
1. The Principles spell out of the socio-economic democracy

in the country.
2. The provisions contained in these Principles are not

enforceable by any court.
Which of statements given above is/are correct ?
a) 1 only
b) 2 only
c) Both 1and 2
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Q).Consider the following statements regarding the
Directive Principles of State Policy :
1. The Principles spell out of the socio-economic democracy

in the country.
2. The provisions contained in these Principles are not

enforceable by any court.
Which of statements given above is/are correct ?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



About Directive Principles of State Policy –
• They are enumerated in Part IV of the Constitution from Articles 36 to

51. Framers of the Constitution borrowed this idea from the Irish
Constitution of 1937, which had copied it from the Spanish
Constitution.

• Features -

o The directive principles are meant for promoting the ideal of social
and economic democracy.

o However, unlike the Fundamental Rights, the directives are non-
justiciable in nature, that is, they are not enforceable by the courts
for their violation

o Can be classified into three broad categories, viz, socialistic,
Gandhian and liberal-intellectual.



Q14).Consider the following statements :
1. The Rajya Sabha has no power either to reject or to amend

a Money Bill.
2. The Rajya Sabha cannot vote on the Demands for Grants.
3. The Rajya Sabha cannot discuss the Annual Financial

Statement.
Which of the statements given above is/are correct ?
a) 1 only
b) 1 and 2 only
c) 2 and 3 only
d) 1, 2 and 3
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• Statement 1 and 2 are right.

• 3rd statement is incorrect as Budget can be discussed by Rajya Sabha

• Constitutional position of the Rajya Sabha (as compared with the Lok
Sabha) can be studied from three angles- Where Rajya Sabha is equal to
Lok Sabha, Where Rajya Sabha is unequal to Lok Sabha, Where Rajya
Sabha has special powers

• Unequal Status with Lok Sabha
o A Money Bill can be introduced only in the Lok Sabha. Rajya Sabha

cannot amend or reject a Money Bill.

o Speaker of Lok Sabha presides over the joint sitting of both the Houses.

o Rajya Sabha can only discuss the budget but cannot vote on the
demands for grants



Q15).When a bill is referred to a joint sitting of both the
Houses of the Parliament, it has to be passed by
a) a simple majority of members present and voting
b) three-fourths majority of members present and voting
c) two-thirds majority of the Houses
d) absolute majority of the Houses
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About Joint Sitting mechanism –
• As per Art.108, a deadlock over a bill, the President can

summon a joint sitting of the two Houses presided by the
Speaker of the Lok Sabha.

• Here, if the majority of members present and voting in the
joint sitting approves the bill, the bill is deemed to have
been passed by both the Houses.

• It must be noted here that the provision of joint sitting is
applicable to ordinary bills or financial bills only and not
to money bills or Constitutional amendment bills.

• In the case of a money bill, the Lok Sabha has overriding
powers, while a Constitutional amendment bill must be
passed by each House separately.



Q16).Consider the following statements :
1. The Executive Power of the Union of India is vested in the

Prime Minister.
2. The Prime Minister is the ex Officio Chairman of the Civil

Services Board.
Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).Consider the following statements :
1. The Executive Power of the Union of India is vested in the

Prime Minister. (repeated)
2. The Prime Minister is the ex Officio Chairman of the Civil

Services Board.
Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• 1st Statement is incorrect as All executive actions of the Government of
India are formally taken in the name of President.

• Second statement is also incorrect as the Cabinet secretary is the ex
officio chairman of the civil service board.

About Cabinet Secretary

o  The Cabinet Secretary is the top-most executive official and senior-
most civil servant of the Government of India.

o She/he is the ex-officio head of the Civil Services Board.
o Ranks eleventh on the Indian order of precedence.
o She/he is under the direct charge of the PM and is appointed for

a fixed tenure of two years. 



Q17).The provisions in Fifth Schedule and Sixth Schedule
in the Constitution of India are made in order to
a) protect the interests of Scheduled Tribes
b) determine the boundaries between States
c) determine the powers, authority and responsibilities of

Panchayats
d) protect the interests of all the border States .
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• Article 244 in Part X of the Constitution envisages a
special system of administration for certain areas
designated as ‘scheduled areas’ and ‘tribal areas’.

• The Fifth Schedule of the Constitution deals with the
administration and control of scheduled areas and
scheduled tribes in any state except the four states of
Assam, Meghalaya, Tripura and Mizoram.

• The Sixth Schedule of the Constitution, on the other hand,
deals with the administration of the tribal areas in the four
northeastern states of Assam, Meghalaya, Tripura and
Mizoram.



Q18).Who/Which of the following is the custodian of the
Constitution of India?
a) The President of India
b) The Prime Minister of India
c) The Lok Sabha Secretariat
d) The Supreme Court of India
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• In the making of law, there is direct participation of the legislature and
the executive.

• It is the judiciary that safeguards the interest of citizens by not
allowing the other organs to go beyond their role assigned in the
Constitution.

• In brief, the Supreme Court of India is the logical and primary
custodian of the Indian Constitution, while also being its interpreter
and guardian.

• Parliament enjoys the authority to amend the Constitution; the
Supreme Court has the authority to examine the validity of
constitutional amendments.

• The Supreme Court ensures that the other branches of government
perform their responsibilities in accordance with the Constitution



Q19).Consider the following statements:
1. The Legislative Council of a State in India can be larger in

size than half of the Legislative Assembly of that
particular State.

2. The Governor of a State nominates the Chairman of
Legislative Council of that particular State.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2
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• The maximum strength of the council is fixed at one-third
of the total strength of the assembly and the minimum
strength is fixed at 40.

• It means that the size of the council depends on the size
of the assembly of the concerned state.

• This is done to ensure the predominance of the directly
elected House (assembly) in the legislative affairs of the
state.

• Though the Constitution has fixed the maximum and the
minimum limits, the actual strength of a Council is fixed
by Parliament.

• The Chairman is elected by the council itself from
amongst its members.



Q20)."To uphold and protect the Sovereignty, Unity and
Integrity of India" is a provision made in the
a) Preamble of the Constitution
b) Directive Principles of State Policy
c) Fundamental Rights
d) Fundamental Duties
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About Fundamental Duties
The original constitution contained only the fundamental rights and not
the fundamental duties.

• Later in 1976, the fundamental duties of citizens were added in the
Constitution on the recommendations of Sardar Swaran Singh
Committee.

• This was done under the the 42nd Constitutional Amendment Act in
1976 whichadded a new part, namely, Part IVA to the Constitution.
This new part consists of only one Article, that is, Article 51A.

• Originally, 10 FDs were enshrined but later, in 2002, one more
Fundamental Duty was added.

• The Fundamental Duties in the Indian Constitution are inspired by the
Constitution of erstwhile USSR.





Q21).The fundamental object of Panchayati Raj system is
to ensure which among the following?
1. People's participation in development
2. Political accountability
3. Democratic decentralization
4. Financial mobilization
Select the correct answer using the code given below
a) 1, 2 and 3 only
b) 2 and 4 only
c) 1 and 3 only
d) 1, 2, 3 and 4



Q).The fundamental object of Panchayati Raj system is to
ensure which among the following?
1. People's participation in development
2. Political accountability
3. Democratic decentralization
4. Financial mobilization
Select the correct answer using the code given below
a) 1, 2 and 3 only
b) 2 and 4 only
c) 1 and 3 only
d) 1, 2, 3 and 4



• To attain decentralized & participatory local self-
government is the fundamental objective of Panchayati raj.
Although all can the statements can be associated with
Panchayati raj but the most appropriate answer should be
1 and 3.

• Also, Political accountability can be achieved in any system
through democratic rule. Hence statement 2 is also not
correct.

• Also, Statement 4 is incorrect as financial mobilization was
not the direct reason for establishment of PRIs.



Q22).The ideal of 'Welfare State' in the Indian Constitution
is enshrined in its
a) Preamble
b) Directive Principles of State Policy
c) Fundamental Rights
d) Seventh Schedule
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enshrined in its
a) Preamble
b) Directive Principles of State Policy
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d) Seventh Schedule



• About DPSPs –
• The Directive Principles constitute a very comprehensive

economic, social and political programme for a modern
democratic State.

• They aim at realising the high ideals of justice, liberty,
equality and fraternity as outlined in the Preamble to the
Constitution.

• They embody the concept of a ‘welfare state’ and not that
of a ‘police state’, which existed during the colonial era.

• In brief, they seek to establish economic and social
democracy in the country.



Q23).There is a Parliamentary System of Government in
India because the
a) Lok Sabha is elected directly by the people
b) Parliament can amend the Constitution
c) Rajya Sabha cannot be dissolved
d) Council of Ministers is responsible to the Lok Sabha



Q).There is a Parliamentary System of Government in
India because the
a) Lok Sabha is elected directly by the people
b) Parliament can amend the Constitution
c) Rajya Sabha cannot be dissolved
d) Council of Ministers is responsible to the Lok Sabha



About Parliamentary system of government
• The Constitution of India provides for a parliamentary form of

government, both at the Centre and in the states. Articles 74 and 75
deal with the parliamentary system at the Centre and Articles 163 and
164 in the states.

• Modern democratic governments are classified into parliamentary and
presidential on the basis of nature of relations between the executive
and the legislature.

• The parliamentary system of government is the one in which the
executive is responsible to the legislature for its policies and acts.

• The presidential system of government, on the other hand, is one in
which the executive is not responsible to the legislature for its policies
and acts, and is constitutionally independent of the legislature in
respect of its term of office.



Q24).The Parliament of India acquires the power to
legislate on any item in the State List in the national
interest if a resolution to that effect is passed by the

a) Lok Sabha by a simple majority of its total membership
b) Lok Sabha by a majority of not less than two-thirds of its

total membership
c) Rajya Sabha by a simple majority of its total membership
d) Rajya Sabha by a majority of not less than two-thirds of its

members present and voting



Q).The Parliament of India acquires the power to legislate
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total membership
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d) Rajya Sabha by a majority of not less than two-thirds of

its members present and voting



• As per article 249, if Rajya Sabha passes a resolution by a
majority of not less than two-thirds of members present
and voting saying that it is “necessary or expedient in the
national interest” that Parliament should make a law on a
matter enumerated in the State List, Parliament becomes
empowered to make a law on the subject.

• Such a resolution remains in force for a maximum period
of one year but this period can be extended by one year at
a time by passing a similar resolution further.



Q25).Consider the following statements:
1. The minimum age prescribed for any person to be a

member of Panchayat is 25 years.
2. A Panchayat reconstituted after premature dissolution

continues only for the remainder period.
 Which of the statements given above is/are correct?

a) 1 only
b)  2 only
c)  Both 1 and 2
d) Neither 1 nor 2
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member of Panchayat is 25 years.
2. A Panchayat reconstituted after premature dissolution

continues only for the remainder period.
 Which of the statements given above is/are correct?

a) 1 only
b)  2 only
c)  Both 1 and 2
d) Neither 1 nor 2



Minimum age for contesting elections to panchayats is 21 years.
• In case of dissolution of Panchayats before expiry of its term, it is

mandatory to hold elections within 6 months of its dissolution.
• Term of panchayat is 5 years. However, a Panchayat reconstituted after

premature dissolution shall continue for only the reminder of the
period. If the period is less than 6 months then it is not mandatory to
held the elections.

About PRIs – signifies the system of rural local self government. It was
constitutionalised through the 73rd Constitutional Amendment Act of
1992. It has brought them under the purview of the justiciable part of the
Constitution.

• It transfers the representative democracy into participatory democracy.

• This act has added a new Part-IX to the Constitution of India.

• In addition, the act has also added a new Eleventh Schedule to the
Constitution. This schedule contains 29 functional items of the
panchayats.



Q26). Consider the following statements:
1. The Chief Secretary in a State is appointed by the

Governor of that State.
2. The Chief Secretary in a State has a fixed tenure.
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d)  Neither 1 nor 2



Q).Consider the following statements:
1. The Chief Secretary in a State is appointed by the

Governor of that State.
2. The Chief Secretary in a State has a fixed tenure.
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d)  Neither 1 nor 2



• The incumbent to the post of Chief Secretary is chosen by
and appointed by the Chief Minister and the Ministers of
the State.

• The trend is that the Chief Minister consults the Union
Government regarding the appointment of the Chief
Secretary but, this consultation is not obligatory.

• There is no fixed tenure for the post of Chief Secretary.
Administrative reform commission in 1969 had
recommended that a Chief secretary should have a
minimum tenure of three to four years.

• At the central level, there is an assured tenure of 2 years
for Cabinet secretary.



Q27).With reference to the ‘Gram Nyayalaya Act’, which of
the following statements is/are correct?
1. As per the Act, Gram Nyayalayas can hear only civil cases

and not criminal cases.
2. The Act allows local social activists as mediators/

reconciliatory.
 Select the correct answer using the code given below.

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).With reference to the ‘Gram Nyayalaya Act’, which of
the following statements is/are correct?
1. As per the Act, Gram Nyayalayas can hear only civil cases

and not criminal cases.
2. The Act allows local social activists as mediators/

reconciliatory.
 Select the correct answer using the code given below.

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• Gram Nyayalayas are mobile village courts in India
established under Gram Nyayalayas Act, 2008 for speedy
and easy access to justice system in the rural areas and to
ensure that opportunities for securing justice are not
denied to any citizen due to social, economic or other
disabilities.

• First statement is not correct. Gram Nyayalaya exercises
the powers of both Criminal and Civil Courts.

• The Gram Nyayalaya are supposed to try to settle the
disputes as far as possible by bringing about conciliation
between the parties and for this purpose, it can make use
of the conciliators such social activists/mediators.



Q28).For election to the Lok Sabha, a nomination paper can
be filed by
a) anyone residing in India.
b) a resident of the constituency from which the election is

to be contested.
c) any citizen of India whose name appears in the electoral

roll of a constituency.
d) any citizen of India.



Q).For election to the Lok Sabha, a nomination paper can
be filed by
a) anyone residing in India.
b) a resident of the constituency from which the election is

to be contested.
c) any citizen of India whose name appears in the

electoral roll of a constituency.
d) any citizen of India.



• The Constitution lays down the following qualifications for a person
to be chosen a member of the Parliament:

• He must be a citizen of India.
• He must make and subscribe to an oath or affirmation before the

person authorised by the election commission for this purpose.
• He must be not less than 25 years of age in the case of the Lok Sabha.
• Parliament has laid down the following additional qualifications in

the Representation of People Act (1951) -
o  He must be registered as an elector for a parliamentary constituency.

This is same in the case of both, the Rajya Sabha and the Lok Sabha.
The requirement that a candidate contesting an election to the Rajya
Sabha from a particular state should be an elector in that particular
state was dispensed with in 2003.

o He must be a member of a scheduled caste or scheduled tribe in any
state or union territory, if he wants to contest a seat reserved for them.



Q29).Consider the following statements:

1. In the election for Lok Sabha or State Assembly, the
winning candidate must get at least 50 percent of the votes
polled, to be declared elected.

2. According to the provisions laid down in the Constitution
of India, in Lok Sabha, the Speaker’s post goes to the
majority party and the Deputy Speaker’s to the
Opposition.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).Consider the following statements:
1. In the election for Lok Sabha or State Assembly, the

winning candidate must get at least 50 percent of the votes
polled, to be declared elected.

2. According to the provisions laid down in the Constitution
of India, in Lok Sabha, the Speaker’s post goes to the
majority party and the Deputy Speaker’s to the
Opposition.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Statement 1 is not correct
• In election for Lok Sabha and state assembly, the first past

the post system is followed where a candidate who polls
more votes than any other candidate is elected.

Statement 2 is incorrect
• As per the constitution, the speaker and deputy speaker in

Lok Sabha are elected among its members.
• Upto the 10th Lok Sabha, both the Speaker and the Deputy

Speaker were usually from the ruling party. Since the 11th
Lok Sabha, there has been a consensus that the Speaker
comes from the ruling party (or ruling alliance) and the
post of Deputy Speaker goes to the main opposition party.



Q30).Right to vote and to be elected in India is a
a) Fundamental Right
b) Natural Right
c) Constitutional Right
d) Legal Right.



Q).Right to vote and to be elected in India is a
a) Fundamental Right
b) Natural Right
c) Constitutional Right
d) Legal Right.



• According to Supreme Court judgment Jyoti Basu vs
Debi Ghosal - A right to elect, fundamental though it is to
democracy, is, anomalously neither a fundamental right
nor a Common Law Right. It is a statutory right. So is the
right to be elected, and the right to dispute an election.

• NOTE - Article 326 of the Constitution provides for the
right to vote and to be elected in India.



Q31).Consider the following statements:
1. The Election Commission of India is a five member body.
2. Union Ministry of Home Affairs decides the election

schedule for the conduct of both general elections and bye-
elections.

3. Election Commission resolves the disputes relating to
splits/mergers of recognized political parties.

Which of the statements given above is/are correct?
a) 1 and 2 only
b) 2 only
c) 2 and 3 only
d) 3 only



Q).Consider the following statements:
1. The Election Commission of India is a five member body.
2. Union Ministry of Home Affairs decides the election

schedule for the conduct of both general elections and bye-
elections.

3. Election Commission resolves the disputes relating to
splits/mergers of recognized political parties.

Which of the statements given above is/are correct?
a) 1 and 2 only
b) 2 only
c) 2 and 3 only
d) 3 only



About EC-

• Established under Article 324 of the Constitution of India to ensure
free and fair elections in the country.

• It oversees elections to parliament, state legislatures, the office of
president of India and the office of vice-president.

• Consist of the chief election commissioner and such number of other
election commissioners, if any, as the president may from time to time
fix. Presently it is a 3 member body.

• Members hold office for a term of six years or until they attain the age
of 65 years, whichever is earlier.

• Functions - determine the territorial areas of the electoral
constituencies, revise electoral rolls and to register all eligible voters,
decide the election schedule for both general elections and byelections,
resolve disputes relating to splits/mergers of recognized political
parties.



Q32).In India, Judicial Review implies
a) the power of the Judiciary to pronounce upon the

constitutionality of laws and executive orders.
b) the power of the Judiciary to question the wisdom of the

laws enacted by the Legislatures.
c) the power of the Judiciary to review all the legislative

enactments before they are assented to by the President.
d) the power of the Judiciary to review its own judgements

given earlier in similar or different cases



Q).In India, Judicial Review implies
a) the power of the Judiciary to pronounce upon the

constitutionality of laws and executive orders.
b) the power of the Judiciary to question the wisdom of the

laws enacted by the Legislatures.
c) the power of the Judiciary to review all the legislative

enactments before they are assented to by the President.
d) the power of the Judiciary to review its own judgements

given earlier in similar or different cases



• Judicial review is the power of judiciary to examine the
constitutionality of legislative enactments and executive orders of
both the Central and state governments.

• On examination, if they are found to be violative of the Constitution
(ultra-vires), they can be declared as illegal, unconstitutional and
invalid (null and void). Consequently, they cannot be enforced by the
government.

• The constitutional validity of a legislative enactment or an executive
order can be challenged in a high court or supreme court on the
following three grounds:
• it infringes the fundamental rights (Part III),

• it is outside the competence of the authority which has framed it,
and

• it is repugnant to the constitutional provisions.



Q33).Which of the following are not necessarily the
consequences of the proclamation of the President’s rule in
a State?
1. Dissolution of the State Legislative Assembly
2. Removal of the Council of Ministers in the State
3. Dissolution of the local bodies
Select the correct answer using the code given below

a) 1 and 2 only
b) 1 and 3 only
c)  2 and 3 only
d) 1, 2 and 3



Q).Which of the following are not necessarily the
consequences of the proclamation of the President’s rule in
a State?
1. Dissolution of the State Legislative Assembly
2. Removal of the Council of Ministers in the State
3. Dissolution of the local bodies
Select the correct answer using the code given below

a) 1 and 2 only
b) 1 and 3 only
c)  2 and 3 only
d) 1, 2 and 3



• When the President’s Rule is imposed in a state, the President
dismisses the state council of ministers headed by the chief minister.

• The state governor, on behalf of the President, carries on the state
administration with the help of the chief secretary of the state or the
advisors appointed by the President.

• This is the reason why a proclamation under Article 356 is popularly
known as the imposition of ‘President’s Rule’ in a state.

• Further, the President either suspends or dissolves the state
legislative assembly.

• The Parliament passes the state legislative bills and the state budget.
• The President's Rule doesn't lead to dissolution of local bodies. Hence,

the answer is 1 and 3 only



Q34).Which of the following are envisaged by the Right
against Exploitation in the Constitution of India?
1. Prohibition of traffic in human beings and forced labour
2. Abolition of untouchability
3. Protection of the interests of minorities
4. Prohibition of employment of children in factories and

mines
Select the correct answer using the code given below

a) 1, 2 and 4 only
b) 2, 3 and 4 only
c) 1 and 4 only
d) 1, 2, 3 and 4



Q).Which of the following are envisaged by the Right
against Exploitation in the Constitution of India?
1. Prohibition of traffic in human beings and forced labour
2. Abolition of untouchability
3. Protection of the interests of minorities
4. Prohibition of employment of children in factories and

mines
Select the correct answer using the code given below

a) 1, 2 and 4 only
b) 2, 3 and 4 only
c) 1 and 4 only
d) 1, 2, 3 and 4



• Right against exploitation includes Article 23 & 24 of the Indian
Constitution.

• Article 23 prohibits traffic in human beings, beggar (forced labour)
and other similar forms of forced labour. Any contravention of this
provision shall be an offence punishable in accordance with law. This
right is available to both citizens and non-citizens. It protects the
individual not only against the State but also against private persons.

• Article 24 prohibits the employment of children below the age of 14
years in any factory, mine or other hazardous activities like
construction work or railway. But it does not prohibit their
employment in any harmless or innocent work.

• Abolition of untouchability and prohibition of its practice (Article 17)
under Right to equality.

• Cultural and educational rights (Articles 29–30) oversees protection of
interest of minorities.

• Protection of language, script and culture of minorities (Article 29) and
Right of minorities to establish and administer educational institutions
(Article 30).



Q35).Out of the following statements, choose the one that
brings out the principle underlying the Cabinet form of
Government:

a) An arrangement for minimizing the criticism against the
Government whose responsibilities are complex and hard
to carry out the satisfaction of all.

b) A mechanism for speeding up the activities of the
Government whose responsibilities are increasing day by
day.

c) A mechanism of parliamentary democracy for ensuring
collective responsibility of the Government to the people.

d) A device for strengthening the hands of the head of the
Government whose hold over the people is in a state of
decline



Q).Out of the following statements, choose the one that
brings out the principle underlying the Cabinet form of
Government:

a) An arrangement for minimizing the criticism against the
Government whose responsibilities are complex and hard
to carry out the satisfaction of all.

b) A mechanism for speeding up the activities of the
Government whose responsibilities are increasing day by
day.

c) A mechanism of parliamentary democracy for ensuring
collective responsibility of the Government to the
people.

d) A device for strengthening the hands of the head of the
Government whose hold over the people is in a state of
decline



• The Parliamentary system is also known as the
‘Westminster’ model of government, responsible
government and cabinet government. The Constitution
establishes the parliamentary system not only at the Centre
but also in the states. The features of parliamentary
government in India are:
• Presence of nominal and real executives;
• Majority party rule,
• Collective responsibility of the executive to the

legislature,
• Membership of the ministers in the legislature,
• Leadership of the prime minister or the chief minister,
• Dissolution of the lower House (Lok Sabha or

Assembly).



Q36).Which one of the following is not a feature to Indian
federalism?

a) There is an independent judiciary in India.
b) Powers have been clearly divided between the Centre and

the States.
c) The federating units have been given unequal

representation in the Rajya Sabha.
d) It is the result of an agreement among the federating units.



Q).Which one of the following is not a feature to Indian
federalism?

a) There is an independent judiciary in India.
b) Powers have been clearly divided between the Centre and

the States.
c) The federating units have been given unequal

representation in the Rajya Sabha.
d) It is the result of an agreement among the federating

units.



• A federal government, is one in which powers are divided between the
national government and the regional governments by the Constitution
itself and both operate in their respective jurisdictions independently.

• The Constitution of India establishes a federal system of government. It
contains all the usual features of a federation, viz., two government,
division of powers, written Constitution, supremacy of Constitution,
rigidity of Constitution, independent judiciary and bicameralism.

• Moreover, the term ‘Federation’ has nowhere been used in the
Constitution. Article 1, on the other hand, describes India as a ‘Union
of States’ which implies two things: one, Indian Federation is not the
result of an agreement by the states; and two, no state has the right to
secede from the federation.



Q37).Which of the following statements is/are true of the
Fundamental Duties of an Indian citizen?
1. A legislative process has been provided to enforce these

duties.
2. They are correlative to legal duties.
Select the correct answer using the code given below

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).Which of the following statements is/are true of the
Fundamental Duties of an Indian citizen?
1. A legislative process has been provided to enforce these

duties.
2. They are correlative to legal duties.
Select the correct answer using the code given below

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• There is no legislative process provided to enforce the
Fundamental duties and they are not correlative to legal
duties.

• Like the Directive Principles, the fundamental duties are
also nonjusticiable.

• The Constitution does not provide for their direct
enforcement by the courts.

• Moreover, there is no legal sanction against their violation.



Q38).Which one of the following objectives is not
embodied in the Preamble to the Constitution of India?

a) Liberty of thought
b) Economic liberty
c) Liberty of expression
d) Liberty of belief



Q).Which one of the following objectives is not embodied
in the Preamble to the Constitution of India?

a) Liberty of thought
b) Economic liberty
c) Liberty of expression
d) Liberty of belief



• The Preamble secures to all citizens of India liberty of
thought, expression, belief, faith and worship.

• The ideals of liberty, equality and fraternity in our
Preamble have been taken from the French Revolution.



Q39).Democracy’s superior virtue lies in the fact that it
calls into activity

a) the intelligence and character of ordinary men and women.

b) the methods for strengthening executive leadership.
c) a superior individual with dynamism and vision.
d) a band on dedicated party workers.



Q).Democracy’s superior virtue lies in the fact that it calls
into activity

a) the intelligence and character of ordinary men and
women.

b) the methods for strengthening executive leadership.
c) a superior individual with dynamism and vision.
d) a band on dedicated party workers.



• In simple words, in democracy people elect their
representative by exercising their vote. This process in
itself requires intelligent men and women for effective
decision making.

• The object of government is the attainment of values and
virtues in men , their self-development, it is essential that
the government should be of those whose self
development is being sought.

• This is only possible if the people participate in the making
and working of their government or the government is
truly representative.



Q40).The main advantage of the parliamentary form of
governments is that

a) the executive and legislature work independently.
b) it provides continuity of policy and is more efficient.
c) the executive remains responsible to the legislature.
d) the head of the government cannot be changed without

election.



Q).The main advantage of the parliamentary form of
governments is that

a) the executive and legislature work independently.
b) it provides continuity of policy and is more efficient.
c) the executive remains responsible to the legislature.
d) the head of the government cannot be changed without

election.



Responsible Government
• By its very nature, the parliamentary system establishes a

responsible government. The ministers are responsible to
the Parliament for all their acts of omission and
commission. The Parliament exercises control over the
ministers through various devices like question hour,
discussions, adjournment motion, no confidence motion,
etc.



Q41).In the context of India, which one of the following is
the correct relationship between Rights and Duties?

a) Rights are correlative with Duties.
b) Rights are personal and hence independent of society and

Duties.
c) Rights, not Duties, are important for the advancement of

the personality of the citizen.
d) Duties, not Rights, are important for the stability of the

State.



Q).In the context of India, which one of the following is
the correct relationship between Rights and Duties?

a) Rights are correlative with Duties.
b) Rights are personal and hence independent of society and

Duties.
c) Rights, not Duties, are important for the advancement of

the personality of the citizen.
d) Duties, not Rights, are important for the stability of the

State.



• Rights are what we want others to do for us whereas the
duties are those acts which we should perform for others.

• Thus, a right comes with an obligation to show respect
for the rights of others.

• The obligations that accompany rights are in the form of
duties.

• Thus, a citizen’s exercise of their rights and freedoms was
inseparable from the performance of their duties and
obligations.



Q42).The mind of the makers of the Constitution of India
is reflected in which of the following?

a) The Preamble
b) The Fundamental Rights
c) The Directive Principles of State Policy
d)  The Fundamental Duties



Q).The mind of the makers of the Constitution of India is
reflected in which of the following?

a) The Preamble
b) The Fundamental Rights
c) The Directive Principles of State Policy
d)  The Fundamental Duties



• In the Berubari Union case (1960), the Supreme Court said that the
Preamble shows the general purposes behind the several provisions
in the Constitution, and is thus a key to the minds of the makers of
the Constitution

• About Preamble –

• The term ‘Preamble’ refers to the introduction or preface to the
Constitution. It contains the summary or essence of the Constitution.

• Preamble reveals four ingredients or components:
1. Source of authority of the Constitution: The Preamble states that
the Constitution derives its authority from the people of India.
2. Nature of Indian State: It declares India to be of a sovereign,
socialist, secular democratic and republican polity.
3. Objectives of the Constitution: It specifies justice, liberty, equality
and fraternity as the objectives.
4. Date of adoption of the Constitution: It stipulates November 26,
1949, as the date.

• It has been amended by the 42nd Constitutional Amendment Act
(1976), which added three new words–Socialist, Secular and Integrity.



Q43).The Parliament of India exercises control over the
functions of the Council of Ministers through
1. Adjournment motion
2. Questions hour
3. Supplementary questions
Select the correct answer using the code given below
a) 1 only
b) 2 and 3 only
c) 1 and 3 only
d) 1, 2 and 3



Q).The Parliament of India exercises control over the
functions of the Council of Ministers through
1. Adjournment motion
2. Questions hour
3. Supplementary questions
Select the correct answer using the code given below
a) 1 only
b) 2 and 3 only
c) 1 and 3 only
d) 1, 2 and 3



• The Parliament exercises control over the Executive through question-
hour, zero hour, half-an-hour discussion, short duration discussion,
calling attention motion, adjournment motion, no-confidence motion,
censure motion and other discussions.

• It also supervises the activities of the Executive with the help of its
committees like committee on government assurance, committee on
subordinate legislation, committee on petitions, etc.

• The ministers are collectively responsible to the Parliament in general
and to the Lok Sabha in particular.

Adjournment Motion
• It is introduced in the Parliament to draw attention of the House to a

definite matter of urgent public importance, and needs the support of
50 members to be admitted.

• Rajya Sabha is not permitted to make use of this device. The
discussion on an adjournment motion should last for not less than two
hours and thirty minutes.



Q44).With reference to the Parliament of India, consider
the following statements:
1. A private member’s bill is a bill presented by a Member of

Parliament who is not elected but only nominated by the
President of India.

2. Recently, a private member’s bill has been passed in the
Parliament of India for the first time in its history.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).With reference to the Parliament of India, consider the
following statements:
1. A private member’s bill is a bill presented by a Member of

Parliament who is not elected but only nominated by the
President of India.

2. Recently, a private member’s bill has been passed in the
Parliament of India for the first time in its history.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• A Private Member's bill is introduced by any member of
Parliament other than a minister. Its introduction in the
House requires one month’s notice. Its drafting is the
responsibility of the member concerned.

• The last Private Member's Bill passed by parliament was
the Supreme Court (Enlargement of Criminal Appellate
Jurisdiction) Bill, 1968, which became an act on August 9,
1970.

• The Rights of Transgender Persons Bill, 2014, passed by the
Rajya Sabha is the first private member's bill to get the
upper house's approval in the past 45 years.



Q45).One of the implications of equality in society is the
absence of
a) Privileges
b) Restraints
c) Competition
d) Ideology



Q).One of the implications of equality in society is the
absence of
a) Privileges
b) Restraints
c) Competition
d) Ideology



• The term ‘equality’ means the absence of special
privileges to any section of the society, and the provision
of adequate opportunities for all individuals without any
discrimination.



Q46).Which principle among the following was added to
the Directive Principles of State Policy by the 42nd
Amendment to the Constitution?
a) Equal pay for equal work for both men and women
b) Participation of workers in the management of industries
c) Right to work, education and public assistance
d) Securing living wage and human conditions of work to

workers



Q).Which principle among the following was added to the
Directive Principles of State Policy by the 42nd
Amendment to the Constitution?
a) Equal pay for equal work for both men and women
b) Participation of workers in the management of

industries
c) Right to work, education and public assistance
d) Securing living wage and human conditions of work to

workers



• The 42nd Amendment Act of 1976 added four new
Directive Principles to the original list. They require the
State:
• To secure opportunities for healthy development of

children (Article 39).
• To promote equal justice and to provide free legal aid

to the poor (Article 39 A).
• To take steps to secure the participation of workers in

the management of industries (Article 43 A).
• To protect and improve the environment and to

safeguard forests and wild life (Article 48 A).



Q47).Which one of the following statements is correct?
a) Rights are claims of the State against the citizens.
b) Rights are privileges which are incorporated in the

Constitution of a State.
c) Rights are claims of the citizens against the State.
d) Rights are privileges of a few citizens against the many.



Q).Which one of the following statements is correct?
a) Rights are claims of the State against the citizens.
b) Rights are privileges which are incorporated in the

Constitution of a State
c) Rights are claims of the citizens against the State.
d) Rights are privileges of a few citizens against the many.



• Rights are legal and moral entitlements or claims of a
person over other fellow beings, over society and over the
government.



Q48).Local self-government can be best explained as an
exercise in
a) Federalism
b) Democratic decentralization
c) Administrative delegation
d) Direct democracy.



Q).Local self-government can be best explained as an
exercise in
a) Federalism
b) Democratic decentralization
c) Administrative delegation
d) Direct democracy.



• The term Panchayati Raj in India signifies the system of rural local self
government. It has been established in all the states of India by the Acts
of the state legislatures to build democracy at the grass root level.

• The act has given a practical shape to Article 40 of the Constitution
which says that, “The State shall take steps to organise village
panchayats and endow them with such powers and authority as may
be necessary to enable them to function as units of self-government.”

• The act is a significant landmark in the evolution of grassroot
democratic institutions in the country. It transfers the representative
democracy into participatory democracy.



Q49).Consider the following statements:
With reference to the Constitution of India, the Directive
Principles of State Policy constitute limitations upon
1. Legislative function
2. Executive function
Which of the above statements is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).Consider the following statements: With reference to
the Constitution of India, the Directive Principles of State
Policy constitute limitations upon
1. legislative function.
2. executive function.
Which of the above statements is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• Directive Principles of state policy cannot act as
constraints/limitations on the government because they
are not enforceable and they are fundamental to the
governance of a country.

• Fundamental Rights operate as limitations on the tyranny
of the executive and arbitrary laws of the legislature.



Q50).Consider the following statements:
1. In the first Lok Sabha, the single largest party in the

opposition was the Swatantra Party
2. In the Lok Sabha, a "Leader of the Opposition" was

recognized for the first time in 1969.
3. In the Lok Sabha, if a party does not have a minimum of

75 members, its leader cannot be recognized as the Leader
of the Opposition.

Which of the statements given above is/are correct?
a) 1 and 3 only
b) 2 only
c) 2 and 3 only
d) 1, 2 and 3



Q).Consider the following statements:
1. In the first Lok Sabha, the single largest party in the

opposition was the Swatantra Party
2. 2. In the Lok Sabha, a "Leader of the Opposition" was

recognized for the first time in 1969.
3. 3. In the Lok Sabha, if a party does not have a minimum

of 75 members, its leader cannot be recognized as the
Leader of the Opposition.

Which of the statements given above is/are correct?
a) 1 and 3 only
b) 2 only
c) 2 and 3 only
d) 1, 2 and 3



Statement 1 is not correct
• The Congress party won 364 of the 489 seats in the first Lok

Sabha and finished way ahead of any other challenger. The
that came next in terms of seats won onlCommunist Party
of India y 16 seats.

Statement 2 is correct
• In 1969, an official leader of opposition was recognized for

the first time. However, it was given statutory recognition
in 1977.

Statement 3 is not correct
• The leader of the largest Opposition party having not less

than one tenth seats of the total strength of the House is
recognized as the leader of Opposition in that House.

• At present, the Lok Sabha has 545 members, so 10% would
mean  55 members.



Q51).Consider the following statements:
1. The Parliament of India can place a particular law in the

Ninth Schedule of the Constitution of India.
2. The validity of a law placed in the Ninth Schedule cannot

be examined by any court and no judgement can be made
on it.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).Consider the following statements:
1. The Parliament of India can place a particular law in the

Ninth Schedule of the Constitution of India.
2. The validity of a law placed in the Ninth Schedule cannot

be examined by any court and no judgement can be made
on it.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• The Ninth Schedule was added to the Constitution by the
first amendment in 1951 along with Article 31-B with a
view to provide a “protective umbrella” to land reforms
laws to save them from being challenged in courts on the
ground of violation of fundamental rights. The SC upheld
the validity of Article 31-B and Parliament’s power to place
a particular law in the Ninth Schedule. Hence, statement 1
is correct.

• The Supreme Court ruled in the I.R. Coelho case18 (2007),
that laws placed in the Ninth Schedule are open to
judicial scrutiny and that such laws do not enjoy a blanket
protection. Laws placed in the Ninth Schedule after the
Keshwanand Bharti Judgment on April 24, 1973, when it
propounded the “basic structure” doctrine, were open to
challenge. Hence, statement 2 is not correct.



Q52).With reference to the Parliament of India, which of
the following Parliamentary Committees scrutinizes and
reports to the House whether the powers to make
regulations, rules, sub -rules, by -laws, etc. conferred by
the Constitution or delegated by the Parliament are being
properly exercised by the Executive within the scope of
such delegation?

a) Committee on Government Assurances
b) Committee on Subordinate Legislation
c) Rules Committee
d) Business Advisory Committee



Q).With reference to the Parliament of India, which of the
following Parliamentary Committees scrutinizes and
reports to the House whether the powers to make
regulations, rules, sub -rules, by -laws, etc. conferred by
the Constitution or delegated by the Parliament are being
properly exercised by the Executive within the scope of
such delegation?

a) Committee on Government Assurances
b) Committee on Subordinate Legislation
c) Rules Committee
d) Business Advisory Committee



• The Committee on Subordinate Legislation examines and
reports to the House whether the powers to make rules,
regulations, bye - laws, schemes or other statutory
instruments conferred by the Constitution or delegated
by Parliament are being properly exercised. In both the
Houses, the committee consists of 15 members. It was
constituted in 1953. Hence, the answer is (b).

• Committee on Government Assurances - This committee
examines the assurances, promises and undertakings given
by ministers from time to time on the floor of the House
and reports on the extent to which they have been carried
through. In the Lok Sabha, it consists of 15 members and
in the Rajya Sabha, it consists of 10 members. It was
constituted in 1953.



• Rules Committee - This committee considers the matters of
procedure and conduct of business in the House and
recommends necessary amendments or additions to the
rules of the House. The Lok Sabha committee consists of 15
members including the Speaker as its ex-officio chairman.
In the Rajya Sabha, it consists of 16 members including the
Chairman as its exofficio chairman.

• Business Advisory Committee - This committee regulates
the programme and time table of the House. It allocates
time for the transaction of legislative and other business
brought before the House by the government. The Lok
Sabha committee consists of 15 members including the
Speaker as its chairman. In the Rajya Sabha, it has 11
members including the Chairman as its exofficio
chairman.



Q53).Regarding Money Bill, which of the following
statements is not correct?

a) A bill shall be deemed to be a Money Bill if it contains
only provisions relating to imposition, abolition, remission,
alteration or regulation of any tax.

b) A Money Bill has provisions for the custody of the
Consolidated Fund of India or the Contingency Fund of
India.

c) A Money Bill is concerned with the appropriation of
moneys out of the Contingency Fund of India.

d) A Money Bill deals with the regulation of borrowing of
money or giving of any guarantee by the Government of
India.



Q).Regarding Money Bill, which of the following
statements is not correct?

a) A bill shall be deemed to be a Money Bill if it contains
only provisions relating to imposition, abolition, remission,
alteration or regulation of any tax.

b) A Money Bill has provisions for the custody of the
Consolidated Fund of India or the Contingency Fund of
India.

c) A Money Bill is concerned with the appropriation of
money out of the Contingency Fund of India.

d) A Money Bill deals with the regulation of borrowing of
money or giving of any guarantee by the Government of
India.



• Article 110 of the Constitution deals with the definition of
money bills. It states that a bill is deemed to be a money
bill if it contains ‘only’ provisions dealing with all or any
of the following matters:
• The imposition, abolition, remission, alteration or

regulation of any tax ;
• The regulation of the borrowing of money or the giving

of any guarantee by the Government of India ;
• The custody of the Consolidated Fund of India or the

contingency fund of India, the payment of moneys into
or the withdrawal of money from any such fund ;

• The appropriation of money out of the Consolidated
Fund of India;



• Declaration of any expenditure charged on the
Consolidated Fund of India or increasing the amount of
any such expenditure;

• The receipt of money on account of the Consolidated Fund
of India or the public account of India or the custody or
issue of such money, or the audit of the accounts of the
Union or of a state.



Q54).With reference to the election of the President of
India, consider the following statements:
1. The value of the vote of each MLA varies from State to

State.
2. The value of the vote of MPs of the Lok Sabha is more

than the value of the vote of MPs of the Rajya Sabha.
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).With reference to the election of the President of India,
consider the following statements:
1. The value of the vote of each MLA varies from State to

State.
2. The value of the vote of MPs of the Lok Sabha is more

than the value of the vote of MPs of the Rajya Sabha.
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



The President is elected not directly by the people but by members of
electoral college consisting of:
• the elected members of both the Houses of Parliament;

• the elected members of the legislative assemblies of the states; and

• the elected members of the legislative assemblies of the Union
Territories of Delhi and Puducherry.

Value of the vote is determined in the following manner:
• Every elected member of the legislative assembly of a state shall have

as many votes as there are multiples of one thousand in the quotient
obtained by dividing the population of the state by the total number of
the elected members of the assembly. (Hence, it varies according to
population of state.)



• Every elected member of either House of Parliament shall
have such number of votes as may be obtained by dividing
the total number of votes assigned to members of the
legislative assemblies of the states by the total number of
the elected members of both the Houses of Parliament.
Hence, the correct answer is (a)



Q55).Consider the following statements:
1. The Speaker of the Legislative Assembly shall vacate his/

her office if he/she ceases to be a member of the assembly.
2. Whenever the Legislative Assembly is dissolved, the

Speaker shall vacate his/her office immediately.
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).Consider the following statements:
1. The Speaker of the Legislative Assembly shall vacate his/

her office if he/she ceases to be a member of the assembly.
2. Whenever the Legislative Assembly is dissolved, the

Speaker shall vacate his/her office immediately.
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• Usually, the Speaker remains in office during the life of the
assembly. However, he vacates his office earlier in any of
the following three cases:
• if he ceases to be a member of the assembly;
• if he resigns by writing to the deputy speaker; and
• if he is removed by a resolution passed by a majority of

all the then members of the assembly. Such a resolution
can be moved only after giving 14 days advance notice.
Hence, statement 1 is correct.

• Article 179 of the Indian Constitution provides that
whenever the Assembly is dissolved, the Speaker shall
not vacate his office until immediately before the first
meeting of the Assembly after the dissolution. Hence,
statement 2 is not correct.



Q56).Consider the following statements:
1. No criminal proceedings shall be instituted against the

Governor of a State in any court during his term of office.
2. The emoluments and allowances of the Governor of a

State shall not be diminished during his term of office.
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).Consider the following statements:
1. No criminal proceedings shall be instituted against the

Governor of a State in any court during his term of office.
2. The emoluments and allowances of the Governor of a

State shall not be diminished during his term of office.
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• Like the President, the governor is also entitled to a
number of privileges and immunities.

• He enjoys personal immunity from legal liability for his
official acts. During his term of office, he is immune from
any criminal proceedings, even in respect of his personal
acts. He cannot be arrested or imprisoned. However, after
giving two months’ notice, civil proceedings can be
instituted against him during his term of office in respect
of his personal acts. Hence, statement 1 is correct.

• The Governor is entitled to such emoluments, allowances
and privileges as may be determined by Parliament. His
emoluments and allowances cannot be diminished during
his term of office. Hence, statement 2 is correct.



Q57).Which of the following are regarded as the main
features of the "Rule of Law"?
1. Limitation of Powers
2. Equality before law
3. People's responsibility to the Government
4. Liberty and civil rights
Select the correct answer using the code given below

a) 1 and 3 only
b) 2 and 4 only
c) 1, 2 and 4 only
d) 1, 2, 3 and 4



Q).Which of the following are regarded as the main
features of the "Rule of Law"?
1. Limitation of Powers
2. Equality before law
3. People's responsibility to the Government
4. Liberty and civil rights
Select the correct answer using the code given below

a) 1 and 3 only
b) 2 and 4 only
c) 1, 2 and 4 only
d) 1, 2, 3 and 4



• Meaning of rule of law is that the government should be
conducted within a framework of recognized rules and
principles which restrict discretionary powers.

• Dicey’s Concept of Rule of Law -In his book, the law and
the constitution, published in the year 1885, Dicey
attributed three meanings to the doctrine of rule of law:
1. Supremacy Of Law
2. Equality Before The Law
3. Predominance Of Legal Spirit



Q58).If the President of India exercises his power as
provided under Article 356 of the Constitution of a
particular State, then
a) the Assembly of the State is automatically dissolved.
b) the powers of the Legislature of that State shall be

exercisable by or under the authority of the Parliament.
c) Article 19 is suspended in that State.
d)  the President can make laws relating to that State.



Q).If the President of India exercises his power as provided
under Article 356 of the Constitution of a particular State,
then
a) the Assembly of the State is automatically dissolved.
b) the powers of the Legislature of that State shall be

exercisable by or under the authority of the Parliament.
c) Article 19 is suspended in that State.
d)  the President can make laws relating to that State.



President acquires the following extraordinary powers when President’s
Rule is under imposition:
• He can take up the functions of the state government and powers

vested in the governor or any other executive authority in the state.
• The state governor, on behalf of the President, carries on the state

administration with the help of the chief secretary of the state or the
advisors appointed by the President.

• He can declare that the powers of the state legislature are to be
exercised by the Parliament.

• Further, the President either suspends or dissolves the state legislative
assembly.

• The Parliament passes the state legislative bills and the state budget.
• Unlike national emergency, it has no impact on the FRs of the citizens.



Q.59).Right to Privacy is protected as an intrinsic part of
Right to Life and Personal Liberty. Which of the following
in the Constitution of India correctly and appropriately
imply the above statement?

a) Article 14 and the provisions under the 42nd Amendment
to the Constitution

b) Article 17 and the Directive Principles of State Policy in
Part IV

c) Article 21 and the freedoms guaranteed in Part III
d) Article 24 and the provisions under the 44th Amendment

to the Constitution



Q).Right to Privacy is protected as an intrinsic part of Right
to Life and Personal Liberty. Which of the following in the
Constitution of India. Correctly and appropriately imply
the above statement?

a) Article 14 and the provisions under the 42nd Amendment
to the Constitution

b) Article 17 and the Directive Principles of State Policy in
Part IV

c) Article 21 and the freedoms guaranteed in Part III
d) Article 24 and the provisions under the 44th Amendment

to the Constitution



• The SC in the case of KS Putt swamy and others vs Union
of India and others highlighted that the 'Right to Privacy'
is an integral part of Right to Life and Personal Liberty
guaranteed in Article 21 of the Constitution.

• It added that the right to privacy is intrinsic to the entire
fundamental rights chapter of the Constitution.



Q60).Which one of the following suggested that the
Governor should be an imminent person from outside the
State and should be a detached figure without intense
political links or should not have taken part in politics in
the recent past?
a) First Administrative Reforms Commission (1966)
b) Rajamannar Committee (1969)
c) Sarkaria Commission (1983)
d) National Commission to Review the Working of the

Constitution (2000)



Q).Which one of the following suggested that the
Governor should be an imminent person from outside the
State and should be a detached figure without intense
political links or should not have taken part in politics in
the recent past?
a) First Administrative Reforms Commission (1966)
b) Rajamannar Committee (1969)
c) Sarkaria Commission (1983)
d) National Commission to Review the Working of the

Constitution (2000)



Sarkaria Commission Report (1988)
• Governor should be an eminent person and not belong to the state

where he is to be posted.

• The procedure of consulting the chief minister in the appointment of
the state governor should be prescribed in the Constitution itself.

• Governor should be a detached figure without intense political links or
should not have taken part in politics in recent past.

• Governor should not be a member of the ruling party. governor’s term
of five years in a state should not be disturbed except for some
extremely compelling reasons.

• Other important recommendations of sarkaria commission - A
permanent Inter-State Council called the Inter-Governmental Council
should be set up, Article 356 (President’s Rule) should be used very
sparingly, Centre should consult the states before making a law on a
subject of the Concurrent List etc.

• Note - all the above commissions were formed to look into center-state
relations.



Q61).In India, which of the following review the
independent regulators in sectors like telecommunications
insurance electricity, etc.?
1. Ad Hoc Committee set up by the Parliament.
2. Parliamentary Department Related Standing Committee
3. Finance Commission
4. Financial Sector Legislative Reforms Commission
5. NITI Aayog
Select the correct answer using the code given below

a) 1 and 2
b) 1, 3 and 4
c) 3, 4 and 5
d) 2 and 5



Q).In India, which of the following review the
independent regulators in sectors like telecommunications
insurance electricity, etc.?
1. Ad Hoc Committee set up by the Parliament.
2. Parliamentary Department Related Standing Committee
3. Finance Commission
4. Financial Sector Legislative Reforms Commission
5. NITI Aayog
Select the correct answer using the code given below

a) 1 and 2
b) 1, 3 and 4
c) 3, 4 and 5
d) 2 and 5



About Department related Standing Committees:
• The Committee system of Parliament is often used in several countries

for oversight of regulators.

• In India, there are 24 Department Related Standing Committees that
comprise members from both Houses of Parliament.

• These committees are ministry specific, and may review the working of
regulators within their respective departments.

• The two parliamentary committees on finance which exercise oversight
of regulators are- the Committee on Estimates and the Public Accounts
Committee (PAC).



About Ad hoc committees – They are temporary and perform specific
task. The Ad Hoc Committees dissolve, once their task is done. These
committees are Ministries’ specific and review the working of regulators
within their respective departments.

• Parliament may establish ad - hoc committees which may examine the
working of regulators.

• For instance, the terms of reference of the Joint Parliamentary
Committee (JPC) on the allocation of 2G spectrum include the review
of the policy on spectrum pricing and grant of telecom licenses.

• Another example of parliamentary oversight through ad -hoc
committees is the scrutiny of the working of SEBI and RBI by the JPC
on the stock market scam.

Finance Commission, Financial Sector Legislative Reforms Commission
and NITI Aayog have no role in reviewing the independent regulators.



Q62).With reference to the Constitution of India, consider
the following statements
1. No High Court shall have the jurisdiction to declare any

central law to be constitutionally invalid.
2. An amendment to the Constitution of India cannot be

called into question by the Supreme Court of India.
Which of the statements give above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).With reference to the Constitution of India, consider the
following statements
1. No High Court shall have the jurisdiction to declare any

central law to be constitutionally invalid.
2. An amendment to the Constitution of India cannot be

called into question by the Supreme Court of India.
Which of the statements give above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• The Indian Constitution has established an integrated judicial system
with the Supreme Court at the top and the state high courts below it.
This single system of courts enforces both the Central laws as well as
the state laws.

• In the Kesavananda Bharati case (1973), Supreme Court laid down a
new doctrine of the ‘basic structure’ (or ‘basic features’) of the
Constitution. It ruled that the constituent power of Parliament under
Article 368 can amend the constitution but Such amendments should
not enable it to alter the ‘basic structure’ of the Constitution. Thus,
anything that is ultravires to the provision of constitution is cut down
by the highest judiciary including the Constitutional amendment.
Hence statement 2 is not correct



Q63).In the context of polity, which one of the following
would you accept as the most appropriate definition of
liberty?

a) Protection against the tyranny of political rulers
b) Absence of restraint
c) Opportunity to do whatever one likes
d) Opportunity to develop oneself fully



Q).In the context of polity, which one of the following
would you accept as the most appropriate definition of
liberty?

a) Protection against the tyranny of political rulers
b) Absence of restraint
c) Opportunity to do whatever one likes
d) Opportunity to develop oneself fully



• The term ‘liberty’ means the absence of restraints on the
activities of individuals, and at the same time, providing
opportunities for the development of individual
personalities.

• Liberty, as elaborated in the Preamble, is very essential for
the successful functioning of the Indian democratic system.
However, liberty does not mean ‘license’ to do what one
likes and has to be enjoyed within the limitations
mentioned in the Constitution itself.

• In brief, the liberty conceived by the Preamble or
fundamental rights is not absolute but qualified.

• Hence in the above question the most appropriate
definition of liberty is to provide opportunity to develop
oneself fully.



Q64).With reference to the Constitution of India,
prohibition or limitations or provisions contained in
ordinary laws cannot act as prohibitions or limitations on
the constitutional powers under Article 142. It could mean
which one of the following?

a) The decisions taken by the Election Commission of India
while discharging its duties cannot be challenged in any
court of law.

b) The Supreme Court of India is not constrained in the
exercise of its powers by laws made by the Parliament.

c) In the event of grave financial crisis in the country, the
President of India can declare Financial Emergency
without the counsel from the Cabinet.

d) State Legislatures cannot make laws on certain matters
without the concurrence of Union Legislature



Q).With reference to the Constitution of India, prohibition
or limitations or provisions contained in ordinary laws
cannot act as prohibitions or limitations on the
constitutional powers under Article 142. It could mean
which one of the following?

a) The decisions taken by the Election Commission of India
while discharging its duties cannot be challenged in any
court of law.

b) The Supreme Court of India is not constrained in the
exercise of its powers by laws made by the Parliament.

c) In the event of grave financial crisis in the country, the
President of India can declare Financial Emergency
without the counsel from the Cabinet.

d) State Legislatures cannot make laws on certain matters
without the concurrence of Union Legislature



• Article 142 states that the Supreme Court in the exercise of its
jurisdiction may pass such decree or make such order as is necessary for
doing complete justice in any cause or matter pending before it.

• Any decree so passed or orders so made shall be enforceable throughout
the territory of India in such manner as may be prescribed by Parliament

• Until a provision in that behalf is made, then it would be enforced in
such a manner as the President may by order prescribe.

• One of the important instances of application by the Supreme Court of
Article 142 was in the Union Carbide case — relating to the victims of
the Bhopal gas tragedy. In this judgment, the Supreme Court, while
awarding compensation of $470 million to the victims, went to the
extent of saying that to do complete justice, it could even override the
laws made by Parliament by holding that, “prohibitions or limitations
or provisions contained in ordinary laws cannot, ipso facto, act as
prohibitions or limitations on the constitutional powers under Article
142.”



• By this statement the Supreme Court of India placed itself
above the laws made by Parliament or the legislatures of
the States. Hence the Supreme Court of India is not
constrained in the exercise of its powers by laws made by
the Parliament. Some important cases where Supreme
Court invoked article 142 are:

1. Appointment of Lokayukta in Uttar Pradesh.
2. Setting up R.M. Lodha Committee to oversee the

functioning of the Medical Council of India (MCI).
3. Transfer the trial of accused in Babri Masjid demolition

case.
4. Ban on sale of alcohol within 500 meters of state and

national highways.
5. Witness Protection Scheme, 2018



Q65).With reference to the Legislative Assembly of a State
in India, consider the following statements:
1. The Governor makes a customary address to Members of

the House at the commencement of the first session of the
year.

2. When a State Legislature does not have a rule on a
particular matter, it follows the Lok Sabha rule on that
matter.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).With reference to the Legislative Assembly of a State in
India, consider the following statements:
1. The Governor makes a customary address to Members of

the House at the commencement of the first session of the
year.

2. When a State Legislature does not have a rule on a
particular matter, it follows the Lok Sabha rule on that
matter.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• Article 176(1) of the Constitution of India enjoins that the Governor
shall Address both the Houses assembled together at the
commencement of the first Session after each general election to the
Assembly and at the commencement of the first session of each year.

• The Address of the Governor contains a review of the activities and
Achievements of the Government during the previous year and their
policy with regard to important internal problems as well as a brief
account of the programmed of Government Business for the session.

Article 208 in The Constitution Of India
• Until rules are are not made, the rules of procedure and standing

orders in force immediately before the commencement of this
Constitution with respect to the Legislature for the corresponding
Province shall have effect in relation to the Legislature of the State
subject to such modifications and adaptations as may be made therein
by the Speaker of the Legislative Assembly, or the Chairman of the
Legislative Council, as the case may be.

• Hence there is no mention that the State Assembly follow the Lok
Sabha rule



Q66).Which Article of the Constitution of India safeguards
one’s right to marry the person of one’s choice?

(a) Article 19
(b) Article 21
(c) Article 25
(d) Article 29



Q).Which Article of the Constitution of India safeguards
one’s right to marry the person of one’s choice?

(a) Article 19
(b) Article 21
(c) Article 25
(d) Article 29



• Supreme Court in 2017 ruled that the right to marry a
person of one’s choice is integral to Article 21 (right to
life and liberty) of the Constitution”.



Q67).Consider the following statements:
1. The 44th Amendment to the Constitution of India

introduced an Article placing the election of the Prime
Minister beyond judicial review.

2. The Supreme Court of India struck down the 99th
Amendment to the Constitution of India as being violative
of the independence of judiciary.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



Q).Consider the following statements:
1. The 44th Amendment to the Constitution of India

introduced an Article placing the election of the Prime
Minister beyond judicial review.

2. The Supreme Court of India struck down the 99th
Amendment to the Constitution of India as being violative
of the independence of judiciary.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



• The Parliament passed the Thirty -ninth amendment to the
Constitution –which removed the authority of the Supreme Court to
adjudicate petitions regarding elections of the President, Vice
President, Prime Minister and Speaker of the Lok Sabha.

• Instead, a body constituted by Parliament would be vested with the
power to resolve such election disputes.

About National Judicial Appointments Commission (NJAC)-
It was a body tasked with appointing judges to the higher judiciary in
India. Article 124 of the Constitution was amended through the 99th
Amendment to reflect the change in the system of appointments from the
collegium system, in which a body of judges would be consulted by the
President to appoint the judges, with the judiciary’s opinion being final.



• The composition of the NJAC included the Chief Justice of India, two
senior most judges of the Supreme Court, the Law Minister and two
“eminent persons”.

• According to judiciary, the composition of NJAC, presented a problem
as it allowed excessive executive interference in the appointment of
judges.

• Therefore, Court struck down the 99th Amendment as
unconstitutional.

• In arriving at this conclusion, the Court evaluated the theory of
separation of powers and held that the interference of the executive
in the appointment of judges to the higher judiciary was a violation of
the theory.



Q68).Consider the following statements:
1. The motion to impeach a Judge of the Supreme Court of India cannot be

rejected by the Speaker of the Lok Sabha as per the Judges (Inquiry) Act,
1968.

2. The Constitution of India defines and gives details of what constitutes
‘incapacity and proved misbehaviour’ of the Judges of the Supreme Court of
India.

3. The details of the process of impeachment of the Judges of the Supreme
Court of India are given in the Judges (Inquiry) Act, 1968.

4. If the motion for the impeachment of a Judge is taken up for voting, the law
requires the motion to be backed by each House of the Parliament and
supported by a majority of total membership of that House and by not less
than two thirds of total members of that House present and voting.

Which of the statements given above is/are correct?

a) 1 and 2

b) 3 only

c) 3 and 4 only

d) 1, 3 and 4.



Q).Consider the following statements:
1. The motion to impeach a Judge of the Supreme Court of Indian cannot be

rejected by the Speaker of the Lok Sabha as per the Judges (Inquiry) Act,
1968.

2. The Constitution of India defines and gives details of what constitutes
‘incapacity and proved misbehaviour’ of the Judges of the Supreme Court of
India.

3. The details of the process of impeachment of the Judges of the Supreme
Court of India are given in the Judges (Inquiry) Act, 1968.

4. If the motion for the impeachment of a Judge is taken up for voting, the law
requires the motion to be backed by each House of the Parliament and
supported by a majority of total membership of that House and by not less
than two thirds of total members of that House present and voting.

Which of the statements given above is/are correct?

a) 1 and 2

b) 3 only

c) 3 and 4 only

d) 1, 3 and 4.



• A judge of the Supreme Court can be removed from his Office by an
order of the president.

• The President can issue the removal order only after an address by
Parliament has been presented to him in the same session for such
removal.

• The address must be supported by a special majority of each House of
Parliament (ie, a majority of the total membership of that House and a
majority of not less than two-thirds of the members of that House
present and voting).

• The grounds of removal are two–proved misbehaviour or incapacity.
But they are not defined.

• The Judges Enquiry Act (1968) regulates the procedure relating to the
removal of a judge of the Supreme Court by the process of
impeachment:

• A removal motion signed by 100 members (in the case of Lok Sabha)
or 50 members (in the case of Rajya Sabha) is to be given to the
Speaker/ Chairman.

• The Speaker/Chairman may admit the motion or refuse to admit it.



Q69).The Ninth Schedule was introduced in the
Constitution of India during the prime minister ship of

a) Jawaharlal Nehru
b) Lal Bahadur Shastri
c) Indira Gandhi
d) Morarji Desai.



Q).The Ninth Schedule was introduced in the Constitution
of India during the prime minister ship of

a) Jawaharlal Nehru
b) Lal Bahadur Shastri
c) Indira Gandhi
d) Morarji Desai.



• To ensure that agrarian reform legislation did not run into heavy
weather, the legislature amended the Constitution in the year 1951
which inserted Ninth Schedule during the tenure of Prime Minister Pt.
Jawahar Lal Nehru.

• Article 31 -B was inserted by the First Constitutional (Amendment) Act
1951 to protect the laws included in it from judicial scrutiny on the
ground of violation of fundamental rights. However, in 2007, the
Supreme Court ruled that the laws included in this schedule after April
24, 1973, are now open to judicial review.



Q70).Consider the following statements:
1. The Parliament (Prevention of Disqualification) Act, 1959

exempts several posts from disqualification on the
grounds of ‘Office of Profit’.

2. The above-mentioned Act was amended five times.
3. The term ‘Office of Profit’ is well-defined in the

Constitution of India.
Which of the statements given above is/are correct?
a) 1 and 2 only
b) 3 only
c) 2 and 3 only
d) 1, 2 and 3



Q).Consider the following statements:
1. The Parliament (Prevention of Disqualification) Act, 1959

exempts several posts from disqualification on the
grounds of ‘Office of Profit’.

2. The above-mentioned Act was amended five times.
3. The term ‘Office of Profit’ is well-defined in the

Constitution of India.
Which of the statements given above is/are correct?
a) 1 and 2 only
b) 3 only
c) 2 and 3 only
d) 1, 2 and 3



• The expression 'office of profit' has not been defined in the
Constitution though it have been mentioned in the Article 102 and 191
of the Constitution. It has also not defined in the Representation of the
People Act, 1951.

• According to Article 102 (1) (a), a person shall be disqualified as a
member of Parliament for holding any office of profit under the
government of India or the government of any state, 'other than an
office declared by Parliament by law not to disqualify its holder'.
Article 191 (1) (a) has a similar provision for the members of state
assemblies. Hence, statement 3 is not correct.

• Parliament has also enacted the Parliament (Prevention of
Disqualification) Act, 1959, which provides the list of offices
exempted from the provisions of office of profit.

• The act has been amended several times to expand the exempted list.

• Also, There is no bar on how many offices can be exempted from the
purview of the law. Hence, statement 1 is correct.



Q71).Under which Schedule of the Constitution of India
can the transfer of tribal land to private parties for mining
be declared null and void?

a) Third Schedule
b) Fifth Schedule
c) Ninth Schedule
d) Twelfth Schedule
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• The Indian Constitution provides autonomy to tribal areas
in matters of governance under the Fifth and Sixth
Schedules.

• This is further enforced by the Samatha v. State of Andhra
Pradesh & OR's (1997) judgment where it was held by the
Supreme Court that the transfer of tribal land to private
parties for mining was null and void under the Fifth
Schedule.

• The framework for protection of the rights of tribal and
indigenous people is also enforced by the Recognition of
Forest Rights Act, 2006 which protects the individual and
community rights of tribal people in forest areas and their
right to free and prior informed consent in event of their
displacement and resettlement.



Q.72) A Parliamentary System of Government is one in
which

a) all political parties in the Parliament are represented in
the Government.

b) the Government is responsible to the Parliament and can
be removed by it.

c) the Government is elected by the people and can be
removed by them.

d) the Government is chosen by the Parliament but cannot
be removed by it before completion of a fixed term.
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• The Constitution of India has opted for the British
Parliamentary form of Government.

• It is based on the principle of cooperation and
coordination between the legislative and executive
organs.

• The features of the Parliamentary government in India
are: Presence of nominal and real executives, Majority
party rule, Collective responsibility of the executive to the
legislature, Membership of the ministers in the legislature,
Leadership of the Prime Minister or the Chief Minister,
Dissolution of the lower house (Lok Sabha or Assembly).



Q.73) Which part of the Constitution of India declares the
ideal of Welfare State?

a) Directive Principles of State Policy
b) Fundamental Rights
c) Preamble
d) Seventh Schedule
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• A welfare state is a concept of government where the state
plays a key role in the protection and promotion of the
economic and social well -being of its citizens.

• It is based on the principles of equality of opportunity,
equitable distribution of wealth, and public
responsibility for those unable to avail themselves of the
minimal provisions for a good life.

• The Directive Principles of State Policy embody the
concept of a ‘welfare state’.

• For instance – To promote the welfare of the people by
securing a social order permeated by justice–social,
economic and political– and to minimise inequalities in
income, status, facilities and opportuni-ties4 (Article 38).



Q.74) Consider the following statements:
1. The Constitution of India defines its structure in terms of

federalism, secularism, fundamental rights and
democracy.

2. The Constitution of India provides for 'Judicial review' to
safeguard the citizens' liberties and to preserve the ideals
on which the Constitution is based.

Which of the statements given above is are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2
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• Statement 1 is not correct: In the Kesavananda Bharati case, the
Supreme Court laid down a new doctrine of the ‘basic structure’ (or
‘basic features’) of the Constitution.

• It ruled that the constituent power of Parliament under Article 368
does not enable it to alter the ‘basic structure’ of the Constitution.

• From the various judgements, features like Independent Judiciary,
Secularism, Rule of law, Free and fair elections, The principle of
Separation of Powers, Parliamentary system,

• The "essence" of other Fundamental Rights in Part III, The Sovereign,
Democratic, Republican structure etc. emerged as the part of Basic
Structure.

• Statement 2 is correct: Judiciary is entrusted with the task of protecting
rights of individuals. The Constitution provides two ways in which
the Supreme Court can remedy the violation of rights.



• First it can restore fundamental rights by issuing writs of Habeas
Corpus; mandamus etc. (article 32). The High Courts also have the
power to issue such writs (article 226).

• Secondly, the Supreme Court can declare the concerned law as
unconstitutional and therefore non-operational (article 13 –
judicial review).

• Together these two provisions of the Constitution establish the
Supreme Court as the protector of fundamental rights of the
citizen on the one hand and interpreter of Constitution on the
other.

• The term judicial review is nowhere mentioned in the
Constitution.



Q.75) In the context of India, which one of the following is
the characteristic appropriate for bureaucracy?

a) An agency for widening the scope of parliamentary
democracy.

b) An agency for strengthening the structure of federalism.
c) An agency for facilitating political stability and economic

growth.
d) An agency for the implementation of public policy.
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the characteristic appropriate for bureaucracy?

a) An agency for widening the scope of parliamentary
democracy

b) An agency for strengthening the structure of federalism
c) An agency for facilitating political stability and economic

growth
d) An Agency for the implementation of public policy



• While the heads of government and their ministers,
saddled with the overall responsibility of government
policy, are together known as the political executive
having a shorter term of office(In India, it is generally for
5 years); those responsible for the day to day
administration are called the permanent executive, i.e.,
the Bureaucracy.

• Bureaucracy is ultimately responsible for efficient policy
formulation and implementation.

Hence option (d) is the correct answer.



Q.76) The Preamble to the Constitution of India, is
a) Part of the Constitution but has no legal effect.
b) Not a part of the Constitution and has no legal effect

either
c) A part of the Constitution and has the same legal effect as

any other part.
d) A part of the Constitution but has no legal effect

independently of other parts.
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• The Preamble of the Indian Constitution serves as a brief
introductory statement of the Constitution that sets out the guiding
purpose, principles, and philosophy of the Indian Constitution.

• It is the thinking and soul of Constitution makers and the
Constituent Assembly.

• The preamble is based on the Objectives which were drafted and
moved in the Constituent Assembly by Jawaharlal Nehru on 13
December 1946.

• The Supreme Court of India originally stated in the Berubari Case
(1960) presidential reference that the preamble is not an integral part
of the Indian constitution, and therefore it is not enforceable in a
court of law.

• However, the same court, in the 1973 Kesavananda case, overruled
earlier decisions and recognized that the preamble may be used to
interpret ambiguous areas of the constitution where differing
interpretations present



• themselves. The Supreme Court in the Kesavananda case
reiterated that the objectives given in the Preamble form a part of
the Basic Structure of the Indian Constitution.

• In the 1995 case of Union Government vs LIC of India, the
Supreme Court once again held that the Preamble is an integral
part of the Constitution.

• The Preamble is not a legally binding document.
• No law can be struck down if it is found to violate the Preamble

only.
• But its importance lies in the following.
• It has been held in many decisions of the Supreme Court that

when a constitutional provision is interpreted, the cardinal rule
is to look to the Preamble as the guiding star and the Directive
Principles of State policy as the book of interpretation.



Q.77) With reference to the provisions contained in Part IV
of the Constitution of India, which of the following
statements is/are correct?
1. They shall be enforceable by courts.
2. They shall not be enforceable by any court.
3. The principles laid down in this part are to influence the

making of laws by the State.
Select the correct answer using the code given below:

a) 1only
b) 2 only
c) 1 and 3 only
d) 2 and 3 only
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• DPSPs, contained in Part IV (Article 36 –51) of the
Constitution of India, are not enforceable by any court.

• However, the principles laid down in there are considered
in the governance of the country, making it the duty of
the State to apply these principles in making laws to
establish a just society.

Hence statements 2 and 3 are correct and statement 1 is not
correct.



Q.78) Consider the following statements:
1. According to the Constitution of India a person who is

eligible to vote can be made a minister in a State for six
months even if he/she is not a member of the Legislature
of that State.

2. According to the Representation of People Act, 1951, a
person convicted of a criminal offence and sentenced to
imprisonment for five years is permanently disqualified
from contesting an election even after his release from
prison.

Which of the statements given above is are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2
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• Every citizen who is 18 years of age, is eligible to vote.
• An individual who is not an MLA can become a minister if he gets

himself elected to the state legislature within six months from his date
of appointment.

• However, while the voting age is 18 years, a person can be an MLA
only after 25 years of age. Hence, statement 1 is not correct.

• Section 8 in The Representation of the People Act, 1951: A person
convicted of any offence and sentenced to imprisonment for not less
than two years [other than any offence referred to in sub-section (1) or
sub-section (2)] shall be disqualified for a further period of six years
since his release.



Q.79) Consider the following statements:
1. The President of India can summon a session of the

Parliament at such place as he/she thinks it.
2. The Constitution of India provides for three sessions of

the Parliament in a year, but it is not mandatory to
conduct all three sessions.

3. There is no minimum number of days that the Parliament
is required to meet in a year.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) 1 and 3 only
d) 2 and 3 only
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• Article 85(1) of the Constitution empowers the President
to summon each House of Parliament to meet at such
time and place as he thinks fit, hence statement 1 is correct.

• Constitution also provides that six months shall not
intervene between its last sitting in one Session and the
date appointed for its first sitting in the next Session. In
other words, the Parliament should meet at least twice a
year Thus the constitution nowhere provides specifically
for three sessions of the Parliament in a year. Hence
statement 2 is not correct.

• There is no minimum number of days that Parliament is
required to meet in a year. Hence statement 3 is correct.



Q.80) Rajya Sabha has equal powers with Lok Sabha in
a) the matter of creating new All India Services
b) amending the Constitution
c) the removal of the government
d) making cut motions
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The powers and status of the Rajya Sabha are equal to that of the Lok
Sabha in the following matters:
• Introduction and passage of ordinary bills.
• Introduction and passage of Constitutional amendment bills.

Introduction and passage of financial bills involving expenditure from
the Consolidated Fund of India. Election and impeachment of the
president.

• Election of the Vice-President. However, Rajya Sabha alone can
initiate the removal of the vice - president. He is removed by a
resolution passed by the Rajya Sabha by a special majority and agreed
to by the Lok Sabha by a simple majority.

• Making recommendation to the President for the removal of Chief
Justice and judges of Supreme Court and high courts, chief election
commissioner and comptroller and auditor general.

• Approval of ordinances issued by the President. Approval of
proclamation of all three types of emergencies by the President.



• Selection of ministers including the Prime Minister. Under the
Constitution, the ministers including the Prime Minister can be
members of either House.

• Consideration of the reports of the constitutional bodies like Finance
Commission, Union Public Service Commission, comptroller and
auditor general, etc.

• Enlargement of the jurisdiction of the Supreme Court and the Union
Public Service Commission.

• Unequal Status with Lok Sabha – matters related to Money Bill, A
financial bill introduction , matters of joint sitting of both houses,
Rajya Sabha can only discuss the budget but cannot vote on the
demands for grants, resolution for the discontinuance of the national
emergency,  passing of a no-confidence motion.



Q.81) Which one of the following categories of
Fundamental Rights incorporate protection against
untouchability as a form of discrimination?

a) Right against Exploitation
b) Right to Freedom
c) Right to Constitutional Remedies
d) Right to Equality
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• Right to Equality (Article 14 -18) protects the citizens against any
discrimination by the State on the basis of religion, caste, race, sex, or
place of birth.

• Article 14 says that the State shall not deny to any person equality
before the law or the equal protection of the laws within the territory
of India.

• Article 15 provides that the State shall not discriminate against any
citizen on grounds only of religion, race, caste, sex or place of birth.

• Article 16 says that no citizen can be discriminated against or be
ineligible for any employment or office under the State on grounds of
only religion, race, caste, sex, descent, place of birth or residence.

• Article 17 abolishes ‘untouchability’ and forbids its practise in any
form.

• Article 18 abolish all titles national or foreign which create artificial
distinctions in social status amongst the people.



Q.82) In India, separation of judiciary from the executive
is enjoined by

a) the Preamble of the Constitution
b) a Directive Principle of State Policy
c) the Seventh Schedule
d) the conventional practice
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• Directive Principles of State Policy can be classified into three broad
categories, viz, socialistic, Gandhian and liberal–intellectual.

• Socialistic Principles - lay down the framework of a democratic
socialist state, aim at providing social and economic justice, and set the
path towards welfare state.

• Gandhian Principles - represent the programme of reconstruction
enunciated by Gandhi during the national movement.

• Liberal–Intellectual Principles - represent the ideology of liberalism.
Under this, Article 50 provides for separation of the judiciary from
the executive in the public services of the State.



Q.83) Along with the Budget, the Finance Minister also
places other documents before the Parliament which
include "The Macro Economic Framework Statement'. The
aforesaid document is presented because this is mandated
by

a) Long standing parliamentary convention
b) Article 112 and Article 110(1) of the Constitution of India
c) Article 113 of the Constitution of India
d) Provisions of the Fiscal Responsibility and Budget

Management Act, 2003
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• Fiscal Responsibility and Budget Management (FRBM)
became an Act in 2003. The objective of the Act is to
ensure inter-generational equity in fiscal management,
long run macroeconomic stability, better coordination
between fiscal and monetary policy, and transparency in
fiscal operation of the Government.

• It requires for the presentation of the following documents
before the Parliament - the Medium Term Expenditure
Framework Statement (MTEF), Medium-Term Fiscal
Policy Statement, Fiscal Policy Strategy Statement and
Macroeconomic Framework Statement.



Q.84) A constitutional government by definition is a
a) government by legislature
b) popular government
c) multi-party government
d) limited government
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• Constitutionalism’ means limited government or
limitation on government. It is the antithesis of arbitrary
powers.

• Constitutionalism recognizes the need for a government
with powers but at the same time insists that limitation
be placed on those powers.

• The antithesis of constitutionalism is despotism. A
government that goes beyond its limits loses its authority
and legitimacy.



Constitutionalism could be seen as constituting the
following elements:
• government according to the constitution;
• separation of power;
• sovereignty of the people and democratic government;
• constitutional review; independent judiciary;
• limited government subject to a bill of individual rights;
• controlling the police;
• civilian control of the military;
• and no state power, or very limited and strictly

circumscribed state power, to suspend the operation of
some parts of, or the entire, constitution.



Q.85) Other than the Fundamental Rights, which of the
following parts of the Constitution of India reflect/reflects
the principles and provisions of the Universal Declaration
of Human Rights (1948)?
1. Preamble
2. Directive Principles of State Policy
3. Fundamental Duties
Select the correct answer using the code given below:

a) 1 and 2 only
b) 2 only
c) 1 and 3 only
d) 1, 2 and 3
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• The Universal Declaration of Human Rights was adopted by the UN
General Assembly in 1948. This declaration represents the first
international expression of human rights to which all human beings
are entitled. It is described as the “International Magna Carta”.

• The Constitution of India has a rich content of human rights. The
Preamble, the Fundamental Rights and the Directive Principles of State
Policy reflect the principles and provisions of the Universal
Declaration of Human Rights (1948).

The four ideals of the Preamble are aimed at the promotion of human
rights. They are as under:
• Justice in social, economic and political spheres.
• Liberty of thought, expression, belief, faith and worship
• Equality of status and opportunity;
• Fraternity assuring the dignity of the individual.



• The Fundamental Rights under Part -III of the Constitution contain an
elaborate list of civil and political rights.

• The Directive Principles of State Policy in Part -IV of the Constitution
comprise economic, social and cultural rights.

• Article 26 of The Universal Declaration of Human Rights states that
everyone has the right to education and Parents have a prior right to
choose the kind of education that shall be given to their children.

• All this is reflected in the Fundamental Duty Article 51 -A(k) "Who is
a parent or guardian to provide opportunities for education to his
child or, as the case may be, ward between the age of six and fourteen
years." Hence all the options are correct



Q.86) In India, Legal Services Authorities provide free
legal services to which of the following type of citizens?
1. Person with an annual income of less than Rs. 1,00,000.
2. Transgender with an annual income of less than Rs.

2,00,000.
3. Member of Other Backward Classes (OBC) with an

annual income of less than Rs. 3,00,000
4. All Senior Citizens.
Select the correct answer using the code given below:

a) 1 and 2 only
b) 3 and 4 only
c) 2 and 3 only
d) 1 and 4 only
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As per the Legal Services Authorities Act, 1987, following are entitled to
free legal services:
• A member of a Scheduled Caste or Scheduled Tribe;
• A victim of trafficking in human beings or begar as referred to in

Article 23 of the Constitution;
• A woman is entitled for free legal aid irrespective of her income or

financial status;
• Child is eligible for free legal aid till the age of majority i.e. 18 years;
• A mentally ill or otherwise differently abled person;
• A person under circumstances of undeserved want such as being a

victim of a mass disaster, ethnic violence, caste atrocity, flood, drought,
earthquake or industrial disaster; or

• An industrial workman; or



• a person in receipt of annual income less than the amount mentioned
in the following schedule (or any other higher amount as may be
prescribed by the State Government), if the case is before a Court other
than the Supreme Court, and less than Rs 5 Lakh, if the case is before
the Supreme Court
o Low income (Annual income less than Rs. 1,00,000
o Transgender (Annual income less than Rs. 2 Lac) in Delhi.

• Senior Citizen - Senior citizens’ eligibility for free legal aid depends on
the Rules framed by the respective State Governments in this regard.
Hence option 4 is not correct



Q.87) We adopted parliamentary democracy based on the
British model, but how does our model differ from that
model?
1. As regards legislation, the British Parliament is supreme

or sovereign but in India, the power of the Parliament to
legislate is limited.

2. In India, matters related to the constitutionality of the
Amendment of an Act of the Parliament are referred to
the Constitution Bench by the Supreme Court.

Select the correct answer using the code given below:
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2
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• Britain follows "Parliamentary Sovereignty", i.e.,
Parliament is supreme. But, India follows constitutional
government where the power of Parliament to legislate is
limited by the constitution. Hence statement 1 is correct.

• The provision for a Constitution bench has been
provided in the Constitution of India under Article 143
and Article 145(3). It is the Chief Justice of India who is
constitutionally authorized to constitute a constitution
bench and refer cases to it. A constitution bench consists
of at least five or more judges of the court which is set up
to decide substantial questions of law with regard to the
interpretation of the constitution in a case. Hence
statement 2 is correct.



Q.88) With reference to the Union Government, consider
the following statements:
1. N. Gopalaswamy Iyenger Committee suggested that a

minister and a secretary be designated solely for pursing
the subject of administrative reform and promoting it.

2. In 1970, the Department of Personnel was constituted on
the recommendation of the Administrative Reforms
Commission, 1966, and this was placed under the Prime
Minister’s charge.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2
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• 1st Administrative reforms committee suggested that a
minister and a secretary be designated solely for pursing
the subject of administrative reform and promoting it.
Hence statement 1 is not correct.

• In 1970, the Department of Personnel was constituted on
the recommendation of the Administrative Reforms
Commission, 1966, and this was placed under the charge
of Cabinet Secretariat. In 1985, it was placed under the
overall charge of the Prime Minister assisted by a Minister
of State. Hence statement 2 is not correct.



Q.89) ‘Right to Privacy’ is protected under which Article of
the Constitution of India?

a) Article 15
b) Article 19
c) Article 21
d) Article 29
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• In K. S. Puttaswamy Case (2017), Supreme Court of India
has held that right to privacy is a Fundamental Right and
it is protected under Article 21 of the Constitution of India.
Hence option (c) is the correct answer.

• The Court reasoned that privacy is an incident of
fundamental freedom or liberty guaranteed under Article
21. The Court overruled M.P. Sharma, and Kharak Singh
judgements, in so far as the latter did not expressly
recognize the right to privacy.



Q.90) Consider the following statements:
1. In India, there is no law restricting the candidates from

contesting in one Lok Sabha election from three constituencies.
2. In 1991 Lok Sabha Election, Shri Devi Lal contested from three

Lok Sabha constituencies.
3. As per the existing rules, if a candidate contests in one Lok

Sabha election from many constituencies, his/her party should
bear the cost of bye -elections to the constituencies vacated by
him/her in the event of him/her winning in all the
constituencies.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) 1 and 3
d) 2 and 3
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• According to Section 33 of Representation of People Act
1951, "a person shall not be nominated as a candidate for
election, in the case of a general election to the House of
the People, from more than two Parliamentary
constituencies." Hence statement 1 is not correct.

• In 1991 Lok Sabha Election, Shri Devi Lal contested from
three Lok Sabha constituencies. Hence statement 2 is
correct. As the above cap was set in 1996.

• There is no such provision in the rules like, "if a candidate
contests in one Lok Sabha election from many
constituencies, his/her party should bear the cost of bye -
elections to the constituencies vacated by him/her in the
event of him/her winning in all the constituencies." Hence
statement 3 is not correct.



Q.91) Consider the following statements:
1. ‘Right to the City’ is an agreed human right and the UN -

Habitat monitors the commitments made by each country
in this regard.

2. ‘Right to the City’ gives every occupant of the city right to
reclaim public spaces and public participation in the city.

3. ‘Right to the City’ means that the State cannot deny any
public service or facility to the unauthorized colonies in
the city.

Which of the statements given above is/are correct?
a) 1 only
b) 3 only
c) 1 and 2
d) 2 and 3
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public service or facility to the unauthorized colonies in
the city.

Which of the statements given above is/are correct?
a) 1 only
b) 3 only
c) 1 and 2
d) 2 and 3



• ‘Right to the City’ is an agreed human right. The Right to
the City is the right of all inhabitants, present and future,
to occupy, use, and produce just, inclusive, and sustainable
cities, defined as a common good essential to the quality of
life. Also, the UN - Habitat monitors the commitments
made by each country in this regard. Hence statement 1 is
correct.

• Right to the city means right to reclaim public spaces,
public participation in the city and more importantly right
to housing and basic amenities. Hence statement 2 is
correct.

• Here, the State can deny any public service or facility to
the unauthorized colonies in the city. Hence statement 3 is
not correct.



Q.92) A legislation which confers on the executive or
administrative authority an unguided and uncontrolled
discretionary power in the matter of application of law
violates which one of the following Articles of the
Constitution of India?

a) Article 14
b) Article 28
c) Article 32
d) Article 44



Q.) A legislation which confers on the executive or
administrative authority an unguided and uncontrolled
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Constitution of India?
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• A legislation which confers on the executive or
administrative authority, an unguided and uncontrolled
discretionary power in the matter of application of law,
will violate Rule of law as prescribed under Article 14.
So, option (a) is correct answer.

• Article 14 ensures that all citizens are equal and that no
person shall be discriminated on the basis of sex,
religion, race or place of birth. It ensures that there is a
separation of power between the three wings of the
government and the executive. By these methods, the
constitution fulfills all the requirements of Dicey’s theory
to be recognized as a country following the Rule of Law.



Q.93) Which one of the following in Indian polity is an
essential feature that indicates that it is federal in
character?

a) The independence of judiciary is safeguarded.
b) The Union Legislature has elected representatives from

constituent units.
c) The Union Cabinet can have elected representatives from

regional parties.
d) The Fundamental Rights are enforceable by Courts of Law.
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• The federal character of the Indian Polity is indicated by
following features: Written Constitution, Supremacy of the
Constitution, Rigid Constitution, Division of Powers,
Independent Judiciary, Bicameral Legislature, Dual
Government Polity, etc.

So, option (A) is the correct answer.



Q.94) With reference to Indian judiciary, consider the
following statements :
1. Any retired judge of the Supreme Court of India can be

called back to sit and act as a Supreme Court judge by the
Chief Justice of India with prior permission of the
President of India.

2. A High Court in India has the power to review its own
judgement as the Supreme Court does.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) Both 1 and 2 only
d) Neither 1 nor 2
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• Article 128: Chief Justice of India may at any time, with
the previous consent of the president, request any person
who has held the office of a Judge of the Supreme Court
or who has held the office of a Judge of a High Court and
is duly qualified for appointment as a Judge of the
Supreme Court to sit and act as a Judge of the Supreme
Court. Thus, statement 1 is correct.

• Article 215: Every High Court shall be a court of record
and shall have all the powers of such a court including the
power to punish for contempt of itself. As a court of record,
a High Court in India has the power to review its own
judgement. Thus, statement 2 is also correct.



Q.95) With reference to India, consider the following
statements:
1. There is only one citizenship and one domicile.
2. A citizen by birth only can become the Head of State.
3. A foreigner once granted the citizenship cannot be

deprived of it under any circumstances.
Which of the statements given above is/are correct?
a) 1 only
b) 2 only
c) 1 and 3
d) 2 and 3



Q.) With reference to India, consider the following
statements:
1. There is only one citizenship and one domicile.
2. A citizen by birth only can become the Head of State.
3. A foreigner once granted the citizenship cannot be

deprived of it under any circumstances.
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a) 1 only
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d) 2 and 3



• In India, we have single citizenship, i.e., a person can
have only one citizenship. Also, at a particular time, a
person can have only one domicile. Thus, statement 1 is
correct.

• Any citizen (Citizen by birth or Naturalised Citizen) can
become the Head of State, i.e., the President, in India. So,
statement 2 is not correct.

• A foreigner once granted the citizenship can be deprived
of the citizenship under circumstances like registration is
done by fraud, person is disloyal towards constitution,
voluntarily acquires citizenship of other country, etc. So,
statement 3 is not correct.



Q.96) Which one of the following factors constitutes the
best safeguard of liberty in a liberal democracy?

a) A committed judiciary
b) Centralization of powers
c) Elected government
d) Separation of powers



Q.) Which one of the following factors constitutes the best
safeguard of liberty in a liberal democracy?

a) A committed judiciary
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d) Separation of powers



• Committed judiciary i.e. a judiciary committed to the policies of the
government. Such judiciary will never go against the governments
policies. Therefore, will not be able to protect the liberty. So, option (a)
is not correct.

• Centralization of power refers to a setup in which the decision
making powers are concentrated in a few leaders at the top of the
organizational structure. Decisions are made at the top and
communicated to lower-level for implementation. This leads to
authoritarian tendencies, impacting the liberty. So, option (b) is also
not correct.

• Elected government is representative of the people. It is expected to
ensure liberty. This is not the best safeguard to ensure liberty.

• Separation of power (executive, legislature and judiciary) checks the
abuse of power by other organs. So, this helps in checking the
authoritarian tendencies. This is the best safeguard to safeguard liberty.
So, option (d) is the correct answer.



Q.97) Under the Indian Constitution, concentration of
wealth violates

a) the Right to Equality
b) the Directive Principles of State Policy
c) the Right to Freedom
d) the Concept of Welfare
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• In Part IV (Directive Principles of State Policy) of the
constitution, Article 39(c) says that, "the operation of the
economic system does not result in the concentration of
wealth and means of production to the common
detriment.“

• From the above statement, we can say that concentration
of wealth violates DPSP. So, option (B) is the correct
answer.



Q.98) What is the position of the Right to Property in
India?

a) Legal right available to citizens only
b) Legal right available to any person
c) Fundamental Right available to citizens only
d) Neither Fundamental Right nor legal right
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• According to Article 300A of the Indian Constitution, "no
person shall be deprived of his property save by authority
of law." Since, the article says that no person shall be
deprived, so the statement, "legal rights are available to
citizens only", is incorrect. Thus, option (a) is incorrect and
option (b) is correct.

• This article was inserted in the Indian Constitution by 44th
constitutional amendment. Before that, Right to property
was a fundamental right under Article 31. Thus, option (c)
is incorrect.

• As this right is mentioned in constitution, it is a
constitutional and legal right. So, option (d) is incorrect.



Q.99) What was the exact constitutional status of India on
26th January 1950?

a) A democratic Republic
b) A Sovereign Democratic Republic
c) A Sovereign Secular Democratic Republic
d) A Sovereign Socialist Secular Democratic Republic



Q.) What was the exact constitutional status of India on
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• As the original preamble, during 26th January-1950,
constitutional status of India was a "Sovereign Democratic
Republic.”

• Later, with 42nd Constitutional Amendment two more
words were added to constitutional status of India, i.e.,
"Socialist and Secular."

Thus, option (b) is the correct answer.



Q.100) Constitutional government means
a) a representative government of a nation with federal

structure
b) a government whose Head enjoys nominal powers
c) a government whose Head enjoys real powers
d) a government limited by the terms of the Constitution



Q.) Constitutional government means
a) a representative government of a nation with federal

structure
b) a government whose Head enjoys nominal powers
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• Constitutionalism is a doctrine in which a government’s
authority is determined by a body of laws or constitution.
Although constitutionalism or constitutional government
is sometimes regarded as limited government. It is an
effort to prevent arbitrary government. Hence, the
government is limited by the terms of the constitution. So,
option (d) is the correct answer.



Thank you!
I hope you enjoyed the session and that it helped you before the prelims

2022.


